Scholarship to Students for the Year 2022-23 (Only)

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi	Amount in Rs.
UNDER	RGRADUATE AIDED PROGRAMME CASH .	SCHOLARSHIPS	3	μ	N3,
1	F.Y.B.A.	First	1	800	800.00
2	F.Y.B.A.	Second	1	600	600.00
3	F.Y.B.A.	Third	1	400	400.00
4	F.Y.B.A.	Rank 4 to 10	7	200	1,400.00
5	F.Y.B.A.	Attendance 1 to 10	10	200	2,000.00
6	S.Y.B.A.	First	1	800	800.00
7	S.Y.B.A.	Second	1	600	600.00
8	S.Y.B.A.	Third	1	400	400.00
9	S.Y.B.A.	Rank 4 to 10	7	200	1,400.00
10	S.Y.B.A.	Attendance 1 to 10	10	200	2,000.00
11	T.Y.B.A. History (Cash Prize, in Memory of Late Shri. Y. R. Gokhale by Mrs. Bharati Joshi)	First	1	3000	3,000.00
12	T.Y.B.A. Eco/Marathi/ Soci (Cash Prize, in memory of Late Shri. Ram Deole)	First	3	2000	6,000.00
13	T.Y.B.A. Eco/Marathi/ Socio/History	Second	4	750	3,000.00
14	T.Y.B.A. Eco/Marathi/ Socio/History	Third	4	500	2,000.00
15	T.Y.B.A. Eco/Hist/Marathi/Socio	Rank 4 to 10	28	200	5,600.00
16	T.Y.B.A.	Attendance 1 to 10	10	200	2,000.00
17	F.Y.B.Com.	First	1	800	800.00
18	F.Y.B.Com.	Second	1	600	600.00
19	F.Y.B.Com.	Third	1	400	400.00
20	F.Y.B.Com.	Rank 4 to 10	7	200	1,400.00
21	F.Y.B.Com.	Attendance 1 to 10	10	200	2,000.00
22	S.Y.B.Com.	First	1	800	800.00
23	S.Y.B.Com.	Second	1	600	600.00
24	S.Y.B.Com.	Third	1	400	400.00
25	S.Y.B.Com.	Rank 4 to 10	7	200	1,400.00
26	S.Y.B.Com.	Attendance 1 to 10	10	200	2,000.00
27	T.Y.B.Com.	First	1	1000	1,000.00
28	T.Y.B.Com.	Second	1	750	750.00
29	T.Y.B.Com.	Third	1	500	500.00
30	T.Y.B.Com.	Rank 4 to 20	17	200	3,400.00
31	T.Y.B.Com.	Attendance 1 to 10	10	200	2,000.00
32	F.Y.B.Sc.	First	1	800	800.00
33	F.Y.B.Sc.	Second	1	600	600.00
34	F.Y.B.Sc.	Third	1	400	400.00

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi p	Amount in Rs.
35	F.Y.B.Sc.	Rank 4 to 10	7	200	1,400.00
36	F.Y.B.Sc.	Attendance 1 to 10	10	200	2,000.00
37	S.Y.B.Sc.	First	1	800	800.00
38	S.Y.B.Sc.	Second	1	600	600.00
39	S.Y.B.Sc.	Third	1	400	400.00
40	S.Y.B.Sc.	Rank 4 to 10	7	200	1,400.00
41	S.Y.B.Sc.	Attendance 1 to 10	10	200	2,000.00
42	T.Y.B.Sc. Chemistry (Cash Prize in	First	1	5000	5,000.00
	Memory of Late. Mrs. Pushpa Dalvi)				
43	T.Y.B.Sc. Phys/Botany (Cash Prize in the	First	2	1000	2,000.00
	Memory of Late. G.B. Vishe)				
44	T.Y.B.Sc. Phys/Botany/Chem	Second	4	750	3,000.00
45	T.Y.B.Sc. Phys/Botany/Chem	Third	4	500	2,000.00
46	T.Y.B.Sc. Phys/Botany/Chem	Rank 4 to 10	28	200	5,600.00
47	T.Y.B.Sc.	Attendance 1 to 10	10	200	2,000.00
UNDEF	RGRADUATE SELF-FINANCE PROGRAMMI	E CASH SCHOLARSHIPS			
48	F.Y.B.M.M.C. [Cash Prize in Memory of	First	1	1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
49	F.Y.B.M.M.C. [Cash Prize in Memory of	Second	1	750	750.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
50	F.Y.B.M.M.C. [Cash Prize in Memory of	Third	1	500	500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
51	F.Y.B.M.M.C.	Rank 4 to 6	3	200	600.00
52	F.Y.B.M.M.C. (Attendance 2 and Project 2)	Attendance and Project	4	200	800.00
53	S.Y.B.M.M.C. [Cash Prize in Memory of	First	1	1500	1,500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
54	S.Y.B.M.M.C. [Cash Prize in Memory of	Second	1	1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
55	S.Y.B.M.M.C. [Cash Prize in Memory of	Third	1	500	500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
56	S.Y.B.M.M.C.	Rank 4 to 6	3	200	600.00
57	S.Y.B.M.M.C. (Attendance 2 and Project 2)	Attendance and Project	4	200	800.00
58	T.Y.B.M.M.C. (Journalism)	First	1	2500	2,500.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
59	T.Y.B.M.M.C. (Journalism)	Second	1	1750	1,750.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi n	Amount in
60	T.Y.B.M.M.C. (Journalism) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
61	T.Y.B.M.M.C. (Journalism)	Rank 4 to 6	3	200	600.00
62	T.Y.B.M.M.C. (Journalism) (Attendance 2 and Project 2)	Attendance and Project	4	200	800.00
63	T.Y.B.M.M.C. (Advertising) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	2500	2,500.00
64	T.Y.B.M.M.C. (Advertising) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1750	1,750.00
65	T.Y.B.M.M.C. (Advertising) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
66	T.Y.B.M.M.C. (Advertising)	Rank 4 to 6	3	200	600.00
67	T.Y.B.M.M.C. (Advertising) (Attendance 2 and project 2)	Attendance and Project	4	200	800.00
68	F.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1000	1,000.00
69	E.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	750	750.00
70	E.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
71	F.Y.B.M.S.	Rank 4 to 10	7	200	1,400.00
72	F.Y.B.M.S. (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
73	S.Y.B.M.S. [Cash Prize in Memory of	First	1	1500	1,500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
74	S.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1000	1,000.00
75	S.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
76	S.Y.B.M.S.	Rank 4 to 10	7	200	1,400.00
77	S.Y.B.M.S. (Attendance 5 and Project 5)	Attendance and Project	10		2,000.00
78	T.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	2500	2,500.00
79	T.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1750	1,750.00

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi n	Amount in Rs.
80	T.Y.B.M.S. [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
81	T.Y.B.M.S.	Rank 4 to 10	7	200	1,400.00
82	T.Y.B.M.S. (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
83	F.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1000	1,000.00
84	F.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	750	750.00
85	F.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
86	F.Y.B.Com. (Accounting and Finance)	Rank 4 to 10	7	200	1,400.00
87	E.Y.B.Com. (Accounting and Finance) (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
88	S.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1500	1,500.00
89	S.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1000	1,000.00
90	S.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
91	S.Y.B.Com. (Accounting and Finance)	Rank 4 to 10	7	200	1,400.00
92	S.Y.B.Com. (Accounting and Finance) (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
93	T.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	2500	2,500.00
94	T.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1750	1,750.00
95	T.Y.B.Com. (Accounting and Finance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi p	Amount in Rs.
96	T.Y.B.Com. (Accounting and Finance)	Rank 4 to 10	7	200	1,400.00
97	T.Y.B.Com. (Accounting and Finance) (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
98	F.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1000	1,000.00
99	E.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	750	750.00
100	F.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
101	F.Y.B.Com. (Banking and Insurance)	Rank 4 to 10	7	200	1,400.00
102	F.Y.B.Com. (Banking and Insurance) (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
103	S.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1500	1,500.00
104	S.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1000	1,000.00
105	S.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
106	S.Y.B.Com. (Banking and Insurance)	Rank 4 to 10	7	200	1,400.00
107	S.Y.B.Com. (Banking and Insurance) (Attendance 5 and project 5)	Attendance and Project	10	200	2,000.00
108	T.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	2500	2,500.00
109	T.Y.B.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1750	1,750.00
110	T.YB.Com. (Banking and Insurance) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
111	T.Y.B.Com. (Banking and Insurance)	Rank 4 to 10	7	200	1,400.00

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi n	Amount in Rs.
112	T.Y.B.Com. (Banking and Insurance) (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00
113	F.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1000	1,000.00
114	F.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	750	750.00
115	F.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
116	F.Y.B.Sc. (Computer Science)	Rank 4 to 10	7	200	1,400.00
117	F.Y.B.Sc. (Computer Science) (Attendance 2 and project 2)	Attendance and Project	10	200	2,000.00
118	S.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1500	1,500.00
119	S.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1000	1,000.00
120	S.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	500	500.00
121	S.Y.B.Sc. (Computer Science)	Rank 4 to 10	7	200	1,400.00
122	S.Y.B.Sc. (Computer Science) (Attendance 5 and project 5)	Attendance and Project	10	200	2,000.00
123	T.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	First	1	2500	2,500.00
124	T.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1750	1,750.00
125	T.Y.B.Sc. (Computer Science) [Cash Prize in Memory of Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
126	T.Y.B.Sc. (Computer Science)	Rank 4 to 10	7	200	1,400.00
127	T.Y.B.Sc. (Computer Science) (Attendance 5 and Project 5)	Attendance and Project	10	200	2,000.00

Sr. No.	Class	Rank	Beneficiarie	Scholarshi	Amount in Rs.
128	F.Y.B.Sc. (Information	First	1	1000	1,000.00
	Technology) [Cash Prize in				,
	Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
129	F.Y.B.Sc. (Information	Second	1	750	750.00
	Technology) [Cash Prize in				
	Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
130	F.Y.B.Sc. (Information	Third	1	500	500.00
	Technology) [Cash Prize in				
	Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
131	F.Y.B.Sc. (Information Technology)	Rank 4 to 10	7	200	1,400.00
132	F.Y.B.Sc. (Information Technology)	Attendance and	10	200	2,000.00
	(Attendance 5 and Project 5)	Project			
133	S.Y.B.Sc. (Information Technology)	First	1	1500	1,500.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
134	S.Y.B.Sc. (Information Technology)	Second	1	1000	1,000.00
	[Cash Prize in Memory of				ŕ
	Late Shri. Gururaj Laxmanrao Pamdi]				
135	S.Y.B.Sc. (Information Technology)	Third	1	500	500.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
136	S.Y.B.Sc. (Information Technology)	Rank 4 to 10	7	200	1,400.00
137	S.Y.B.Sc. (Information Technology)	Attendance and	10	200	2,000.00
	(Attendance 5 and project 5)	Project			ŕ
138	T.Y.B.Sc. (Information Technology)	First	1	2500	2,500.00
150	[Cash Prize in Memory of			2500	2,500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
139	T.Y.B.Sc. (Information Technology)	Second	1	1750	1,750.00
137	[Cash Prize in Memory of	Become		1,50	1,750.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
140	T.Y.B.Sc. (Information Technology)	Third	1	1000	1,000.00
110	[Cash Prize in Memory of	1 min di		1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
141	T.Y.B.Sc. (Information Technology)	Rank 4 to 10	7	200	1,400.00
142	T.Y.B.Sc. (Information Technology)	Attendance and	10	200	2,000.00
172	(Attendance 5 and Project 5)	Project		200	2,000.00

143	F.Y.F.T.N.M.P. [Cash Prize in Memory of	First	1	1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				

Sr. No.	Class	Rank	Beneficiarie	Scholarshi	Amount in
144	F.Y.F.T.N.M.P. [Cash Prize in Memory of	Second	S	750	750.00
144		Secona		750	/50.00
4.45	Late Shri. Gururaj Laxmanrao Pamdi]	ml · l		500	500.00
145	F.Y.F.T.N.M.P. [Cash Prize in Memory of	Third	1	500	500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
146	F.Y.F.T.N.M.P.	Best Project	1	300	300.00
147	F.Y.F.T.N.M.P.	Attendance	1	200	200.00
148	S.Y.F.T.N.M.P. [Cash Prize in Memory of	First	1	1500	1,500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
149	S.Y.F.T.N.M.P. [Cash Prize in Memory of	Second	1	1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
150	S.Y.F.T.N.M.P. [Cash Prize in Memory of	Third	1	500	500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
151	S.Y.F.T.N.M.P.	Best Project	1	300	300.00
152	S.Y.F.T.N.M.P.	Attendance	1	200	200.00
153	T.Y.F.T.N.M.P. [Cash Prize in Memory of	First	1	2500	2,500.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
154	T.Y.F.T.N.M.P. [Cash Prize in Memory of	Second	1	1750	1,750.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
155	T.Y.F.T.N.M.P. [Cash Prize in Memory of	Third	1	1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
156	T.Y.F.T.N.M.P.	Best Project	1	300	300.00
157	T.Y.F.T.N.M.P.	Attendance	1	200	200.00
POSTG	RADUATE PROGRAMME CASH SCHOLAF	RSHIPS			
158	M.Com. Part I (Business	1			
	Management) [Cash Prize in Memory				
	of	First	1	1250	1,250.00
	Late Shri. Gururaj Laxmanrao Pamdi]	11130		1230	1,230.00
159	M.Com. Part I (Business	Second	1	1000	1,000.00
	Management) [Cash Prize in Memory				,
	of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
160	M.Com. Part I (Business	Third	1	750	750.00
	Management) [Cash Prize in Memory				
	of				
	Late Shri. Gururaj Laxmanrao Pamdi]				

161	M.Com. Part II (Business	First	1	1500	1,500.00
	Management) [Cash Prize in Memory				
	of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
162	M.Com. Part II (Business	Second	1	1250	1,250.00
	Management) [Cash Prize in Memory				
	of				
	Late Shri. Gururaj Laxmanrao Pamdi]				

Sr. No.	Class	Rank	Beneficiarie	Scholarshi	Amount in
1.0	N. C. D. W. C. D.		S	<i>p</i>	Rs.
163	M.Com. Part II (Business	Third	1	1000	1,000.00
	Management) [Cash Prize in Memory				
	of				
161	Late Shri. Gururaj Laxmanrao Pamdi]			4250	4.250.00
164	M.Com. Part I (Advance Accounting)	First	1	1250	1,250.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
165	M.Com. Part I (Advance Accounting)	Second	1	1000	1,000.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
166	M.Com. Part I (Advance Accounting)	Third	1	750	750.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
167	M.Com. Part II (Advance Accounting)	First	1	1500	1,500.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
168	M.Com. Part II (Advance Accounting)	Second	1	1250	1,250.00
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
169	M.Com. Part II (Advance Accounting)	Third	1	1000	1,000.00
	[Cash Prize in Memory of				•
	Late Shri. Gururaj Laxmanrao Pamdi]				
170	M.Com. Part I (Banking and	First	1	1250	1,250.00
	Finance) [Cash Prize in Memory of				•
	Late Shri. Gururaj Laxmanrao Pamdi]				
171	M.Com. Part I (Banking and	Second	1	1000	1,000.00
	Finance) [Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
172	M.Com. Part I (Banking and	Third	1	750	750.00
	Finance) [Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				

173	M.Com. Part II (Banking and	First	1	1500	1,500.00
	Finance) [Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
174	M.Com. Part II (Banking and	Second	1	1250	1,250.00
	Finance) [Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				
175	M.Com. Part II (Banking and	Third	1	1000	1,000.00
	Finance) [Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]				

Sr. No.	Class	Rank	Beneficiarie	Scholarshi	Amount in Rs.
176	M.Sc. Part I Chemistry	First	1	1250	1,250.00
170	[Cash Prize in Memory of	11130		1250	1,230.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
177	M.Sc. Part I Chemistry	Second	1	1000	1,000.00
1,,	[Cash Prize in Memory of	Sccona		1000	1,000.00
	Late Shri. Gururaj Laxmanrao Pamdi]				
178	M.Sc. Part I Chemistry	Third	1	750	750.00
1,0	[Cash Prize in Memory of	1		, 55	, 55.55
	Late Shri. Gururaj Laxmanrao Pamdi]				
179	M.Sc. Part II Chemistry	First	1	1500	1,500.00
	[Cash Prize in Memory of				·
	Late Shri. Gururaj Laxmanrao Pamdi]				
180	M.Sc. Part II Chemistry				
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1250	1,250.00
181	M.Sc. Part II Chemistry				
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
182	M.Sc. Part I Botany [Cash				
	Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1250	1,250.00
183	M.Sc. Part I Botany [Cash				
	Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1000	1,000.00
184	M.Sc. Part I Botany [Cash				
	Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	<i>750</i>	750.00

185	M.Sc. Part II Botany				
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	First	1	1500	1,500.00
186	M.Sc. Part II Botany				
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Second	1	1250	1,250.00
187	M.Sc. Part II Botany				
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Third	1	1000	1,000.00
188	M.Sc. (By Research) Chemistry				
	[Cash Prize in Memory of				
	Late Shri. Gururaj Laxmanrao Pamdi]	Completion	6	2000	12,000.00

Sr. No.	Class	Rank	Beneficiarie	Scholarshi	Amount in
Ph D E	PROGRAMME CASH SCHOLARSHIPS		S	p	Rs.
189	Ph.D. in Chemistry	Completion	5	5000	25,000.00
190	Ph.D. in Commerce	Completion	5	5000	25,000.00
	R CASH SCHOLARSHIPS	dompretton		3000	25,000.00
191	Ideal student Prize by Dr. G. K. Deodhar	The topper in Physics	3	500	1,500.00
171	Tucar state in 1712e by 151. d. K. Debanar	F.Y., S.Y. and T.Y. B.Sc.		300	1,500.00
192	NCC Best Cadet Prize	Overall Performance	1	1000	1,000.00
193	Best Turnout Prize in NCC	Overall Performance	1	1000	1,000.00
194	Outstanding Performance Prize in NCC	Achievement at National	1	1000	1,000.00
		/State Level camps			
195	NSS Dnyanseva Purskar	Overall Performance	1	1000	1,000.00
	(Cash and Memento prize)	throught year			
		(Girl Volunteer)			
196	NSS Dnyanseva Purskar	Oveall performance			
		throught year	1	1000	1,000.00
		(Boy Volunteer)			
197	NSS Principal Prize	Overall Performance	1	1000	1,000.00
		throught out year			
198	National / State Level Students of Sports Scholarship	Achivement at National /State Level Competition	1	1000	1,000.00
199	Achievement in Sports Activity at University of Mumbai	Gold Medal	1	1000	1,000.00
200	Achievement in Sports Activity at State Level	Gold Medal	1	1200	1,200.00

201	Achievement in Sports at National Level	Gold Medal	1	1500	1,500.00
202	Achievement in Cultural Activity at	Gold Medal	1	1000	1,000.00
	University Level (Youth Festival)				
203	Achievement in Cultural Activity at	Gold Medal	1	1200	1,200.00
	State Level				
204	Achievement in Cultural Activity at	Gold Medal	1	1500	1,500.00
	National Level				
205	Achievement in Avishakar Research	Gold Medal	1	1000	1,000.00
	Convention at University of Mumbai				
206	Achievement in Avishakar Research	Gold Medal	1	1200	1,200.00
	Convention at State Level				
207	Achievement in Anveshan Student	Gold Medal	1	1500	1,500.00
	Research Convention at National Level				

Sr. No.	Class	Rank	Beneficiarie s	Scholarshi p	Amount in Rs.
208	Scholoarship Fees in Memory of	Boy Student	1	3000	3,000.00
	Late. Vasant Sadashiv Masurkar to	from Faculty of			
	be given to poor, needy & worthy	Arts			
	student in Aided Section.				
	By Shri. Arun R. Sheth (Thane)				
209	Scholoarship Fees in Memory of Late.	Girl Student from	1	3000	3,000.00
	Vasant Sadashiv Masurkar to be	Faculty of Arts			
	given to poor, needy & worthy				
	student in Aided Section.				
	By Shri. Arun R. Sheth (Thane)				
210	Scholorship Fees in Memory of	Boy Student from	1	3000	3,000.00
	Late. Vasnt Sadashiv	Faculty of			
	Masurkar	Science			
	to be given to poor, needy &				
	worthy student in Aided Section.				
	By Shri. Arun R. Sheth (Thane)				
211	Scholorship Fees in Memory of Late.	Girl Student from	1	3000	3,000.00
	Vasnt Sadashiv Masurkar to be given	Faculty of			
	to poor, needy & worthy student in	Science			
	Aided Section.				
	By Shri. Arun R. Sheth (Thane)				
212	Scholorship Fees in Memory of	Boy Student from	1	3000	3,000.00
	Late. Vasnt Sadashiv	Faculty of			
	Masurkar	Commerce			
	to be given to poor, needy &				
	worthy student in Aided Section.				

	By Shri. Arun R. Sheth (Thane)				
213	Scholorship Fees in Memory of Late.	Girl Student from	1	3000	3,000.00
	Vasnt Sadashiv Masurkar to be given	Faculty of			
	to poor, needy & worthy student in	Commerce			
	Aided Section.				
	By Shri. Arun R. Sheth (Thane)				
214	Cash Prize for the ' Best Girl Student'	Overall Performance	1	1000	1,000.00
	from Commerce Faculty in the Memory				
	of Late. Smt. Shobha Bahurao				
	Bhingardive				
	(By Dr. Manisha Bhingardive)				
215	Cash Prize, in Memory of	The topper of the	1	500	500.00
	Late Shri. R.G. Gupte	T.Y.B.A Examination			

Sr. No.	Class	Rank	Beneficiarie	Scholarshi	Amount in Rs.
216	Cash Prize, in memory of	The topper of the	1	500	500.00
	Late Shri. R.G. Gupte	T.Y.B.Com Examination			
217	Cash Prize, in memory of	The topper of the	1	500	500.00
	Late Shri. R. G. Gupte	T.Y.B.Sc. Examination			
218	Trophy Prize, in memory of	The Best Sports	1	Trophy	0
	Late. Shri. Sitaram Pradhan	Person (Boy)			
	and				
	Smt. Indira Pradhan				
219	Trophy Prize, in memory of	The Best Sports	1	Trophy	0
	Late. Shri. Sitaram Pradhan	Person (Girl)			
	and				
	Smt. Indira Pradhan				
220	Late. Shri. Dattaji	Best Teacher	4	Memento	20,000.00
	Thamhane Adarsha			5000	
	Shikshak Puraskar				
	(Jr. & Sr. College Teacher's / Professor's				
221	Late. Shrimati Sarla Tai Chitnis	Best Teacher	2	Memento	20,000.00
	Adarsha Shikshak Puraskar By			10000	
	Mr. Ashok Chitnis				
	(pre primary and primary school teacher's)				

Total No. of Beneficiaries	687	GRAND TOTAL	3,92,750.00
----------------------------	-----	----------------	-------------